1. Thisis a pretty good drawing of what Thomson thought a Plum Pudding NEUTRAL hydrogen
atom looked like. It shows a positive circle with one electron in it.
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2. Go through the boxes below and do the following:
« circle any metal that has a variable charge
e cross out any polyatomic ion
e write the name of each. for example, Cu2+ is “copper(ll)* for example, SO47is “sulfate” ACCORDING

TO YOUR HANDOUT SHEET GIVEN THURSDAY on the back of the periodic table
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3. Do the same as you did in #2 to these
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4. In Gold(lll) Oxide, what does the Il tell us? ( how many gold atoms ?
the total charge of the compound? )

Zero!
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total charge of all the gold atoms put together?
In Manganese(ll) carbonate, what is the TOTAL charge of the compound?
arbonate, what is the charge of just the CO5? (look it up)
Calciumisa ( / nonmetal )

Aluminumisa (m
Name the only alkali metal in Period 2: Lithum
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Key to understanding the cartoons on this sheet:

1 chlorine atom

1 hydrogen atom

1 oxygen atom

1 carbon atom
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12. How many atoms, total, are in this box? -hN

13. How molecules are in this box? 'FO ur

14. What is the formula of this compound? Cf‘% '-*i
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Go through the eight formulas below and circle any that have a metal with an unpredictable charge Then name each

compound.
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23. What's the formula of each?
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24. In the table below, fill in the-formula of the ionic compound below 1t5Tra
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25. Which is a molecular substance? ((C3H8"/ NaBr) Ne mefal So |1 muiT be meleculos -

27. Which is difficult to melt? ( C3H8 /,

26. Which is an electrolyte when dissolved |i water? ( CsHsO, Becguse H’Lc& o merl
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